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1 4| Z XA QIMZAA Zahe nad™ a2l 1271-5 =1 6,034
2 4| L3R AL QIMZAN Lol wsH F3t2| 802-5 = 3414
3 4| Z 3R AL QIMZAA| Lot na M 23t2] 952-2 =1 7451
4 37| LKA CIHMA A Zotat =M QlALZ] 1019-3 B 4,957
5 A7 TR AF H7|E AmA| GEH B 22| 512-0 = 3,953
6 47| FES, A7 UTA| I T A[22] 881-0 g 3,910
7 A7 TR AF A7\ ZmA Y2 W HEg| 3310 = 3,155
8 37| SHAFMSXAL |Z7| SFEF H20 of4de] 438-0 B 2,826
9 4| AHAFEMEXA |F7|E dEF X HH 32| 1953-0 =1 2,501
10 4| EIFMEXA |F7| 2 B X|HH 32| 1954-0 B 1,939
11 47| LqEHAFMEXA [F7]E dEF ASH A2 782-6 =1 2,436
12 47| SEHIFMEXA [F7|: SET ST AHE| 782-7 B 1,326
13 47| LqEHIAFMEXA [F7]E dEF ASH AFE| 785-0 =1 1,088
14 4| SHAFMEXAL |E7|E SYFA =5H 22| 286-1 il 466
15 4| AEHAFEMEXAL [F7|E SAFA| =50 22| 287-0 =1 886
16 47| AHAFMSXAL |F7| 2 SFEHZ G35 H A el 1951-0 B 2,979
17 47| O|Z=.O|MAIAF  |A7|E O|HA| 28 2Ma| 245-0 g 3,392
18 4| O FO|MX|AL  |HI|= {F 2 S 71782 65-1 A 2,165
19 4| FOIHXAL | F7= ol F2 SUH 7Pge] 65-2 H 1,160
20 47| O F.O|MX|AF |47z O|MA| CHEH &2t2] 434-5 B 3,000
21 47 O|Z=.0|MX|AF  |ZA7|E O|FA| &S S Meal 1102-0 g 2,558
22 47| FOIMXAL | B7|E o FF SLE Ffa] 493-1 B 4,358
23 47| O|Z.O|MAIAF  |ZA7|E OfZ=2 ST of3t2| 265-15 g 2,770
24 47| O|Z.0|MX|AF  |ZA7|Z O|MA| MM X Qz2| 276-4 g 2,423
25 47| ZO|MAAF  |ZA7IE 02 S =2 586-4 g 2,561
26 47| o FO|MX|AL  |HI= F2 SMTE 0jF2[ 586-5 B 3,130
27 47| O|Z.0|MX|IAF  |ZA7|E O|FA| &S S ZA 2| 1059-6 g 1,066
28 47| Z=O|MAAF  |ZA7|E O|FA| &S 2S &Ata| 7710 g 1,298
29 47| O|Z.0|MX|AF  |ZA7|E O[HA| &S S &4Ata| 770-0 g 3,166
30 47| O FO|MX|AL  |HI|= O|HA| =Yg A2 1059-7 B 3,425
31 47 ZO|MAA  |ZA7IE 02 TS 222 317-5 g 3,196
32 47| O FO|MX|AL  |HI= F 2 OfFF 272] 317-6 B 3,167
33 47 Ol O|MXIAF  |A7|E O|FA| MM AH=a| 797-0 g 2,939
34 47| ZOIHEAIAF  |Z7|% O|FA| AT AH=2| 1093-0 5 3,791
35 47 Ol O|MXIAF  |A7|E O|HA| HBAS &At2| 847-0 g 3,532
36 47| O F.0| M X| AL 4|z o]z F=H £42] 428-0 B 1,686
37 47 ZO|MXAF  |ZA7|E O|FA| &S AS &Ata| 793-0 g 2,886
38 4| O FO|MX|AL  |HI = OI’H*I O ® 0| 2| 577-4 = 3,083
39 37| Of 0| M X| A Z71c ofFx 7tgdd 342 495-1 B 2,590
40 7| Z=O|MXA  |A7E o|x“| ASAS S42] 792-0 5 1,106
41 47 Ol O|HXIAF  |A7|E O|HA| HB S &At2| 794-0 g 2,439
42 47| FO[MXAL  |B7|E o FF SLE HAt2] 361-0 B 7,089
43 47| FO[MXAL | B7|= O|HA| RS #F2| 22-1 B 1,359
44 4| O FO|MX|AL 7= O|HA| BES 72| 22-2 B 1,982
45 47 ZO|MAIAF  |Z7|= O|MA| HAFE 42 32] 200-0 g 1,208
46 47| FO[MXAL | B7|= O|HA| AL 12| 204-0 B 1,548
47 47 O|Z.0|MAAF  |ZA7|= O|FMA| H{AIH 82 3] 204-1 g 2,344
48 47| IHEX|Ab 47| oAl B9 #32| 805-0 B 2,539
49 47 FTESAPV! A7|5 OjFA| & 4T 74ea] 9510 g 1,084
50 4| IHEX| A Z|= oEA| M- H 74ael 952-0 =1 3,463
51 47| HEX| AL 7| = mpFEA| EFEE ZX|2] 496-0 B 6,132
52 4| IHEX| A Z| = mEA| M- H XpE2| 704-0 =1 879
53 47 FTESI A7|5 OpFA| &40 KpaE] 703-0 g 1,798
54 4| IHEX| A Zo|= mEA| HHH gR2l 529-1 =1 2,656
55 27 TR AL A7|E mEAl ®40 g2a] 529-0 B 1585
56 4| IHEX| A Zo| = obEA| M H XpE2] 697-0 =1 955
57 47 FTESI A7|5 OpFA| &40 KFa] 698-0 g 1,941
58 47| X[ AF A7|5 O}EA| EF D 093] 610-0 = 3,746
59 47| IHEX| AL 7| = mpFEA| EFSE 82| 611-0 B 5135
60 4| IHEX| A 47| otFEA| Bt 2t22| 573-0 =1 3,631
61 47| HEX| AL 7| = mpFEA| EFEE ZX|2] 497-0 B 2,969
62 4| IHEX| A Zo|= miFEA| 280 £Lf2] 143-0 =1 7,247
63 47| FTESIT 7| DA WAE 1103-0 g 4,393
64 A7 TEEX|AF A7\ O}FA| THEE Sia| 763-0 = 1,703
65 47 FTESIN A7|E oA IFEE Sia] 764-0 g 3,029
66 4| IHEX| A Z7| = otFEA| B Ytz 517-0 =1 1,983
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282 e TAFR|AF M2 DARR CfjAFH 9E3| 511-0 A 684
283 He TAR|Ab Ml DA CjAFH 9=3| 510-0 A 2,723
284 e AR AF Mt s nAy 220 ME2] 1768-0 = 1,254
285 He InkSNPN; Mete s nEe A2H #aa] 1028-0 = 4,572
286 e TAFR|AF Maps s nEHE AElm 23] 480-0 = 1,872
287 He InkSNPN; Metes nEe 22W MS2| 1509-0 = 2,813
288 e AR AF Mt s DAy 220 ME2] 1500-0 = 2,136
289 e DR AL HESE 18T SHE S48 1364-0 = 2,991
290 e TAFR|AF Mats s nEHE D20 01N a| 724-0 = 1,798
291 e InESONPNS MetEs IAF 040 Q42| 726-0 =] 1,661
292 e TAFR| AF Mats s nEkE D20 01N a| 725-0 = 3,732
293 He InkSNPN; Hetse 187 23H ZHel 1329-0 =] 2,128
294 e TAFR|AF M2 D DA CjAMH ZA2| 1631-0 = 3,906
295 Me TAR|AF Metes oA MUH x52] 146-0 = 5,210
296 e TAFR|AF Mt s DAy 220 MEa] 1483-0 = 1,932
297 Me TAR|AF Helse 18y R0 =522( 13470 = 1,845
298 e TAFR|AF Mape s DAy Hotm £313] 1036-0 = 2,767
299 He InkSNPN; Mete s nEe AQIH Aa] 1213-0 = 2,120
300 e TAFR|AF Mape s DAy Aeln Aa] 1214-0 = 1,217
301 He InkSNPN; Metes nEe 22W M52| 1596-0 = 1,968
302 e AR AF Mt s DAy 220 MEa] 1597-0 = 3,902
303 Me TAFR| AF Map2 s DAHR OfAtH J19t3| 741-0 = 1,850
304 e DAR|AF Mt s DA SEO slda) 467-2 = 4,247
305 Me TAFR| AF Mete s DA 1 LhAba] 826-0 = 2,898
306 i DE XA HetEE Igw 00 Hita] 827-0 =1 2,646
307 Me TAFR| AF Mete s DA 1 LhAba] 828-0 = 2,181
308 He AR A M2 DA MUS 253] 590-0 = 6,696
309 Me TAFR| AF Mete s nEe 22H MS2] 1530-0 = 4,577
310 i DE XA HEtEE Ia ForH 2] 1313-0 = 4461
311 Me TAFR| AF Mepe s DEHE Hotm Alota) 939-0 = 9,658
312 e AR AF Mol s DA CfAFH CHERE| 295-0 A 1,570
313 Me TAFR| AF Mepe s DEHE CfAtH ChEbE| 296-0 A 2,617
314 e AR AF Maps s DA AElo RpE 2] 1052-0 = 1,713
315 s DE XA HelsE e MW Xpmel 1270-2 =1 3,527
316 i DE XA HetEE agw ARH x|2| 802-0 = 2,878
317 Me TAFR| AF Mepe s DEHE CfAtH Zcha| 486-0 = 1,054
318 e AR A Mol D DAR CjAHH ZCH2| 1477-0 = 4,279
319 Me TAFR| AF Mot2 s DAR ASHH &S 2| 1227-0 = 4,419
320 e TAFR|AF Maps s DA A &S] 1237-0 = 1,060
321 Me AKX AL MepE s DA At ASa] 1238-0 = 4,533
322 e DEX|A Mats s DA ASHH &S 2] 1239-0 = 4,432
323 Me AR AL MetE s DAy 220 Eea] 1258-0 = 2,774
324 e DEX|A Mt s nAR 220 Aeka] 1259-0 = 940
325 Me AKX AL Mete s nEHE Hotm AMS 3| 953-0 = 1,231
326 i DE XA s Igw 2otM 482 954-0 = 768
327 Me AKX AL MapE s DA CfAFS Aeta] 997-0 = 3,362
328 e TAR| A Mt s nAR 220 AS2| 1225-0 =1 3,351
329 Me FAX| A} M2 D ZAA| CHOFM 2T 2| 1307-3 = 3,918
330 e ZAX| A} M2 D ZLAA| CHOFM 2T 2| 1307-6 =1 3,888
331 Me FAX| A} FMol2 D ZAA| CHOFM & AFZ| 1041-3 = 3,454
332 i XA Hets = 4ok gAE ¥ 2| 103-7 = 1,964
333 = A AL TS E b YO|® S4t2] 369-0 =1 7,283
334 s XA Hets = 4ok JAH CfE 2] 103-6 =1 2,158
335 = A AL TS L A 3[HE 32| 54-90 =1 4,526
336 s XA HetsE Z4i S35 #=442] 797-0 =1 2,341
337 Me FAX| A} FMol2 D ZAA| CHOFM & AFZ| 1070-6 = 4,784
338 e ZAX| AL Mol D ZAMA| CJOFH & ARZ| 1070-7 = 1,070
339 e FAX| A} FMo2 D ZAA| CHOFM & AFZ| 1071-1 = 5,807
340 i XA Hets = AHA CHOFE F4t2] 1071-2 = 6,883
341 g o LKA TS L A RS 42| 163-6 = 2,208
342 s AKX AF Hets = DA JHEE S492] 163-46 =1 1,490
343 g o LKA TS L T JHHE S42] 163-48 = 789
344 i XA Hets = 4 CHoFM 2| 1305-11 =1 3,961
345 e FAX| A} M2 D ZLAA| CHOFM 212| 1398-6 = 5,164
346 i XA Hets = 4| CHOFH S w2l 1398-7 =1 5154
347 e FAX| A} FMol2 D ZAA| CHOFM 212| 1398-8 = 5,159
348 i XA Helsz H@A YW 4352 163-0 =1 795
349 e LHOIX| A FMEl2L SOA| MO AL=7| 164-0 = 1,517
350 e LEQIX| A Mt s LA F=M0 ALER| 165-0 = 1,091
351 g S RAXA Hel=k HA FYH 4352 167-0 B 466
352 i S RAX[A Helse @A YW 4352 166-0 =1 337
353 g S XA HetEE ANAl SEHH S52] 1265-0 = 2,067
354 i STX| AL Hets = ANAl 2EH 202] 1679-8 =1 4,015




355 SRR HMet2 s ZRA ZAE ZAE] 6511 g 4,992
356 S TR AL Tt XAl FA4H Z42| 689-7 =1 3,970
357 = RIX[AF MetE e AMA| SA glma| 77-7 =] 2,202
358 S IR AL TetSE XAl 22 22| 340-8 =] 1,924
359 = RIX|AF MetEE MA| 220 252 1104 = 4,840
360 =RIR AL Mat= s UMA| 220 2423 110-5 = 4,192
361 = RIX[AF MetEE AMA| 490 MZ2| 901-10 = 3,948
362 S IR AL HetS: AAAl Y ®™ ME2( 903-9 =1 3,782
363 EXSI MetE L UHA| 490 MZ2| 903-10 = 1,776
364 HOLX|AF Met2 s 2otz A3 &2a| 3972-1 = 5,155
365 SO AL Hetsr 2ot 223 3F52] 865-3 =] 4,300
366 SORR|AF HMetS e 2oty Hokg 52| 869-0 g 8,000
367 E=E XA Metse =87 S4HH shj2| 890-5 =] 1,845
368 XX AL Met2s 287 720 282 658-2 = 3,140
369 E=E XA Metse =87 72H FH2| 664-2 =] 2,822
370 O AFX| A MetE £ OAA| B E 760-0 = 496
371 OIANK| AF MEfE L OAA| EME 760-1 = 2,023
372 2 QAXAL [HEtS L 2FF O|MH FH 2| 463-3 =] 536
373 SIE QMR AL [MatRE T b2 O|MB 272] 463-4 = 3,175
374 2 QAXAL [HEtS L 2FF O[T FH 2| 463-5 =] 865
375 S AAXAL (MR 2 FEF S5 242 608-0 B 2,446
376 XA TetSE HaAl 24H 832| 776-1 =] 6,993
377 XA MetE s HSA| D20 #23] 1006-0 e 1,780
378 S X[AF MetEE MSA| 20 H2lp] 11330 = 417
379 HS XA MetE s oA 23 B2l7] 1169-0 e 2,000
380 S X[AF MetE s MSA| 20 H2lp] 11340 = 917
381 HSX| AL MetE e HSAl 28 22lp] 1135-0 g 1,518
382 S X[AF MEIEE MSA| Ao x|Mz2| 560-4 = 3,053
383 HEX|AF MeteE s HSA| R0 53] 1008-1 =] 2,829
384 S X[AF Met2Es HSA| AAD 2X2| 825-5 = 1,476
385 XA MEEL HSA| AME X2 825-6 e 3,932
386 S X[AF Met2E s HSA| AND 82| 825-7 = 3,241
387 FS XA TtSE FSA| TS 819-5 =] 2,056
388 S X[AF MetE e HSA| FALE 8207 = 1,837
389 FS XA TtSE FYSA AL H Ot4 2| 601-4 =] 2,942
390 XA TetS: FSAl 2™ 0t 2| 605-5 =] 3,909
391 FS XA TtSE FYSA AL H Ot 2| 605-6 =] 1,252
392 S X[AF Met2Es HSA| D0 212 1661-4 = 2,716
393 HS XA Mete s HSA| AN 112 1048-5 g 1,875
394 HSX|AL Met2E s HSA| AAT AHM2| 790-0 = 3,230
395 HEX|AF MetE e HgAl ol 232| 1590-0 = 3,824
396 HSX|AL HMat=L MSA| O|EH 922 1603-0 = 4,000
397 FS XA TSE FYSA O|HH 232( 1640-0 =] 3,977
398 HSX|AL MefE s MSA| ¥0 Mz 1200-0 = 3,608
399 HEX|AF MEEE MSA| EfOIB nAz| 712-0 = 2,694
400 HSX|AL MefEE MSA| @90 =93 12330 = 1,023
401 BEXA HEtSE HSA BH 32| 1276-4 =i 4,052
402 HEX|AF HalEE MoA| Moo £22| 1284-7 ot 2,855

ME g ot 370,932
403 Fe BE AT XA |MetHE A= ot g Cfofg| 173-11 = 1,910
404 e ZRGTRA |MEHE #ER D2H SA2| 1703-2 =] 1,417
405 Hy DSX[Af et s 153 A &HArZ| 510 = 208
406 My DEX[AF MefdE 053 AT 31ArZ| 53-0 = 89
407 Hy DSX[Af Mt 153 CjA T 3HAF2| 54-1 = 965
408 Bt e Hetde 123 (MBI SHf2] 52-0 g 2,661
409 Hy DSX[Af Mt s 153 CjA T 3HAr2]| 56-0 et 2,539
410 et IS XA Metde 157 thME E-e| 869-2 =] 1,861
411 o DS X[AF Mt s 153 AT 2R 2| 2109-11 = 1,650
412 e R Metde D52 oM 92| 2109-16 = 4,970
413 o DS X[AF Mt 153 AT 2Rz 2109-17 = 2,900
414 e TS XA Metde 1S ZoE ob= 2| 782-5 = 5,003
415 o RS MefHE 137 S50 A2 2641-8 = 3,736
416 My DSX[AF MEtds 1S COo AQka| 2713-8 = 1,418
417 e S X[A Metede 47 20 0pde| 1241-2 =1 1117
418 e TMR|AL MEfHE DM A0 O0pEz| 1245-0 = 2,622
419 e S X[A Mot 24+ S8 £=2| 1018-2 B 2,961
420 e XA Metde 347 &7|H Fetel 572-14 =] 1,143
421 e S X[A Metede 47 o 7|H gikel 572-15 =1 1,095
422 e XA Metde 347 28 HEe| 795-15 =] 2,940
423 me TES HettE LA EH0 0H2 2] 1048-0 B 979
424 mu LEEXIAL Mt e LFEA 2HE ohT 2| 1049-0 Bt 2,863
425 Myt LFZ=X|AF Metd = LEEA| 2301 A3 2| 1200-0 o 3,099
426 e SOk AIRER| A Tetgde fota g™ Qita| 377-9 | 2,382
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